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PMT R11920-100
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Parameters | Requirements | R11920-100 (average)

Wavelength sensitivity range 290 - 600 nm O.K.
Peak Q.E. > 32% 41%
Average Q.E. >21% 30%
Collection efficiency > 92% 94%

P/V ratio =15 3.0

After pulsing (> 4 p.e.) 0.02% 0.0045%

Pulse width (FWHM) <3.0ns BVEnS
Gain ~ 40,000 O.K.

Dynamic range 1 p.e. ~1000 p.e. O.K.

Life (50% drop in Gain) > 200 C O.K.
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Pulse width problem

> Pulse Width Problem
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Possible solutions

1. Signal attenuation
2. Fatigue (Ageing)
3. Short the 8th dynode with the anode
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Signal attenuation
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Pulse Width Problem >  Signal Attenuation
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latigue (Ageing)
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3. Short the dynode Sth with the anode

Connect
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ZQ3932 and ZQ3672(short)

Gain vs. Voltage
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Summary

> Summary

Change
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Summary
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